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Tekst 4 A dilemma of horns

Which of the following is in line with paragraph 1?
A Asian buyers of rhino horn risk heavy fines.
B Criminals slaughter rhinos in a gruesome way.
c Itis very difficult to kill rhinos with just guns.
D There are hardly any wild rhinos left in Asia.

“The best way to turn the tide is to reduce demand” (alinea 2)
Welke drie verschillende manieren om de vraag naar en de handel in
hoorn te verminderen worden in deze tekst genoemd?

What is the main function of paragraph 47?

A to criticise the limited use of the RRP method

B to illustrate that there is a great demand for the RRP method
C to point out the effectiveness of the RRP method

D to question whether the RRP method is morally acceptable

How can the tone of the last sentence of this text best be characterised?
A as critical

B as playful

C as reassuring

D as surprised

Tekst 5 Axis

10

11

Geef van de volgende beweringen over Grace en Avie aan of deze
overeenkomen met de tekst.

Noteer “wel” of “niet” achter elk nummer op het antwoordblad.

1 Ze namen hun studieboeken mee naar huis hoewel de kans dat ze
daar zouden studeren erg klein was.

Ze waren familie van elkaar.

Ze gaven hun studietoelage vooral uit aan modieuze kleding.

Ze ergerden zich aan hun vrouwelijke medestudenten.

Ze hebben vanwege hun uiterlijk veel huwelijksaanzoeken gehad.

arowON

“They were both majoring in history” (line 25)

Why did Grace and Avie study, according to the text?

A They believed they were smart enough for an academic career.

B They felt compelled to make good use of the funds given to them.
¢ They wanted to avoid having to do any form of physical work.

D They were hoping it would help them find a suitable partner.
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